1. oS 2=OA] 2y - zx O] 2729

@D 10° @ 20° ® 30° @ 50° ® 60°



2. o O8I} Zol vtz]F9] Zol7} 5em ¢ Hofl W= A4 d
ABC o4 BC 91 4

® 4+6cm @ 543cm ® 6+v3cm
@ 7+3cm ® 83cm



42 204 5.0ptAC = 4cm |, 5.0ptBD = 5cm , /DCB = 25° 2
o], /APC 9] 27]=?

@D 35° @ 45° B 55° @ 65° B 75°



4.

@D 95° ® 105° ® 115° @ 125° ® 135°



o2 O AB &= ¥ 0 9] A Eo|tt.
/BCD = 40° ¢ o, /ABD ¢] Z7]& 5}
H?

@ 40° @ 45° @ 50°

@ 55° ® 60°




thS oA COD = «x° C
VY N\ -

5.0ptAC = 5.0ptCD 2t &t uf,

x 9 27]=2 A

@D 58° ® 62° 3 68° @ 72° ® 76°



7. TS oA oABCD 7} Yo AT o, A
/BDC ©] 37]=9 .

BE 70°

@D 50° @ 55° 3 60° @ 65° B 70°



the I AC = 9 0 9 A E0]1 /QBC = 35°, /BQC = 30°
o off, LAPB 9] 27|=?

@D 65° @ 80° 3) 85° @ 90° 3B 95°



9.

o2 193 Zo] ¥ix|§e
VY
o o, 5.0ptAC + 5.0ptB

lo

)

w)

C
5
® gﬁcm @ 27cm
@ §7Tcm ® 3ncm

p

1

=

_q]



10. & a1™ef /BAC =60° ¥ uff, /OBC 9]
A7]& F-oH?

@D 30° @ 40° ® 50° @ 60° ® 70°



11. e 1A 5.0ptAB = 5.0ptBC o] L, D
(BAC = 40° & W, /ADB 9] 27]& 45
W2

@ 30° @ 35° @ 40° 0
@ 45° ® 50°



